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Question Number : 1 Question Id : 70959726394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the height of the Mount Everest?
a)8848m
) 8858m
c}8838m
d) 8898m

Question Number : 2 Question Id : 70959726395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



The extension of Thar Desert into Palistan is,
a) Gobi
b)Great Indian Desert
c)}Cholistan
d)Kalahari

Question Number : 3 Question Id : 70959726396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Garo—Khasi range ofhills lie in:
a) Assam
b) Meghalava
c) Tripura
d) Nagaland

Question Number : 4 Question Id : 70959726397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How much percent of the world’s population exists in India?
a) 87%
b) 33%
c) 21%
d) 16%

Question Number : 5 Question Id : 70959726398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How manyv unicn territories are there in India?
a)6
b} 8
c)?
d) 4

Question Number : 6 Question Id : 70959726399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In which vear additional changes to India's state boundaries have been made?
a) 1956
b) 1954
c) 1952
d) 1959

Question Number : 7 Question Id : 70959726400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Whatis the total land area of India?
a)3,287.,523 sq. km
) 3,287,263 sq. km
c) 4,265,263 sq. km
d)7.533.892 sq. km

Question Number : 8 Question Id : 70959726401 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



_Which longitude is taken as the standard time meridian of India?
a) 8715 E
b)82°30°E
c)42°45°E
d)78°30'E

Question Number : 9 Question Id : 70959726402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_Which are the two countries signed two agreements including an initiativefor sharing of water and electricity
from Mahakali Riverin 19967

a)} Nepal- India

b) Bhutan- India

c) India- Pakistan

d) India- China

Question Number : 10 Question Id : 70959726403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Most of the elevated mountains and hills of Peninsular India and the northern mountain ranges possess
slope terrains
a) Very narrow
b) Very wide
c) Very Steep
d) Very small

Question Number : 11 Question Id : 70959726404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The topographv of a region is represented bv the
a) Climatic condition

b) Vegetation

c) Elevation of land and its gradient

d) All the above

Question Number : 12 Question Id : 70959726405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.Slope and topographyv describe the of a land
a) Relief

b) Climate

c) Shape

d) Relief and shape

Question Number : 13 Question Id : 70959726406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which plain is located between latitude 23.13°-24 68°N and longitude 68.10°-71 80°E?
a) Kamataka plain
b) Kerala plain
c) The Kachchh Peninsula
d) Konkan plain

Question Number : 14 Question Id : 70959726407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which plain stretches for 675 km from PulicatLake to Kanvakumar?
a) Kamatakaplainn.

b) Kerala plain

¢} Tamil Nadu Plain

d) Konkan plain

Question Number : 15 Question Id : 70959726408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which is the tallest peak in the Eastern Ghats?
a) Vindhva gini
b) Kalsubai
¢} Mahendragiri
d) Mahadeohills

Question Number : 16 Question Id : 70959726409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Which plain is also known as the Assam Valley?
a) The Ganga plain
b) The Brahmaputra plain
¢) The Punjab-Harvana plain
d) The Rajasthan Plain

Question Number : 17 Question Id : 70959726410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which plain covers an area of about 56 thousand sq_km?
a) The Ganga plain

b) The Brahmaputra plain

¢} The Punjab-Haryana plain

d) The Rajasthan Plain

Question Number : 18 Question Id : 70959726411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.Among these whichis also known as the Northern plains?
a) The coastal plains

b) The islands

c) The Indo-Gangetic plain

d) The peninsular plateau

Question Number : 19 Question Id : 70959726412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which state the mountain climate is experienced?
a} Tamil nadu
b) Kerala
c} Sikkim
d) Kamataka

Question Number : 20 Question Id : 70959726413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What are the crops cultivated in tropical and sub-tropical steppe?
a} Cotton and sugarcane

b) Ragi and maize

c} Jowar and bajra

d) Rice and wheat

Question Number : 21 Question Id : 70959726414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Which monthis the coldest month in Tropical semi-arid steppe climate?
a) December

b) June

c) May

d) February

Question Number : 22 Question Id : 70959726415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Abbreviation of IMD is

a) International Meteorological Department
b) India Meteorological Department

c) Integrated Meteorological Department
d) Institute of Meteorclogical Department

Question Number : 23 Question Id : 70959726416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Avalanches occur in
a) Kashmir
b) Himachal Pradesh
c) Sikkim
d) All the above

Question Number : 24 Question Id : 70959726417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
.India experiences a climate
a) Tropical
b) Sub- wopical
c) Both tropical as well as sub-tropical
d) None of the above

Question Number : 25 Question Id : 70959726418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which cowrse of a river, meanders are formed?
a} Upper course
b) Middle course
¢} Lower course
d) Both upper &amp; middle

Question Number : 26 Question Id : 70959726419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Which among the following rivers flow through a rift valley?
a) Chambal

b) Tungabhadra

c) Krishna

d) Tapi

Question Number : 27 Question Id : 70959726420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

.Which is the largest freshwater lake in India?
a} Wular lake

b) Dal lake

c} Bhimtal Lake

d) Loktak

Question Number : 28 Question Id : 70959726421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

“What is the percentage of peopleliving in rural areas and are still dependent on
Agriculture?

1) 75%

b) 45%

c) 56%

d) 73%

Question Number : 29 Question Id : 70959726422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which programmeis launched to bring in an improvement in the elementaryveducation system?
a) District Primary Education Programme
b) Kasturba Gandhi Shiksha Yojana
¢} Sarva Shiksha Abhivan
d) National Bal Bhavan

Question Number : 30 Question Id : 70959726423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which issue is indeed a global issue?
a) Livestock
b) Farmer
c) Agriculture
d) Poverty

Question Number : 31 Question Id : 70959726424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The growth potential of eachregion can be fully developed by.
a) Small scale industries and large scale industries
b)Regional planning
c) Heavy and light industries.
d) Agro based and mineral based industries

Question Number : 32 Question Id : 70959726425 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



The programme developed to minimize the adverse effects of drought on the production of crops, livestock
and productivity of land is,

2) DDP

b)) ITDP

c) DPAP

d) SEDP

Question Number : 33 Question Id : 70959726426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The main objective of ITDA is,
a) Improving agriculture productivity
b) Improving vegetative cover
¢) Increasing milk and horticulture production
d) socio-economic development of ribal commumities

Question Number : 34 Question Id : 70959726427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In which vear the Globalization has become one of the most used and abused terms?
a) 1999

b) 1988

c) 1990

d) 1991

Question Number : 35 Question Id : 70959726428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When was the National Policy on Education launched?
2}1986

b) 1988

c) 1990

d) 1991

Question Number : 36 Question Id : 70959726429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which division reflects changing intensity of involvement in the global system?
a) District

b) Urban

c) Rural

d) Regional

Question Number : 37 Question Id : 70959726430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which soil is found suitable for growing coffee in India?
a) Red soil.
b) Black soil
c) Alluvial soil.
d) Forest and Hill soil.

Question Number : 38 Question Id : 70959726431 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



. Peaty and marshy soil originate in this region as a resultthey accumulate of large amounts of organic matter.
a) Humid

b) Dry

¢) Ocean

d) None of these

Question Number : 39 Question Id : 70959726432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
This type of Soils are habitually poor and can hold only scrub forests and pastures
a)Red
b) Laterite
c) Forest
d) None of these

Question Number : 40 Question Id : 70959726433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Sunderbans are found in which state?
a) West Bengal

b) Bihar

c) Goa

d) Assam

Question Number : 41 Question Id : 70959726434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In which region there is a significant contribution of Integrated Tribal Development Programme took place?
a} Malnad region
b) BR Hill region
¢} Bharmaur region
d) None of these

Question Number : 42 Question Id : 70959726435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Desert Development Programme (DDP) was started in:
2) 1988-89
b) 1977-78
c) 1965-67
d) 1992-93

Question Number : 43 Question Id : 70959726436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
The land use has grown with the
a) Time
b) Space
c) Time and space
d) None

Question Number : 44 Question Id : 70959726437 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



is the systematic assessment of land and water potential, altemativepatterns of land use.
a} Land-use planning

b) Land covers planning

c) Both

d) None

Question Number : 45 Question Id : 70959726438 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Land used permanently for five vears or more to grow herbaceous forage crops through cultivation or
naturally wild prairie or grazing land is called

a) Land under permanent crops

b) Permanent meadows and pastures

c) Land temporarily fallow

d) Land under temporary meadows and pastures

Question Number : 46 Question Id : 70959726439 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
A landmass bounded by sea on three sides is referred to as
a) Coast
b} Island
c) Peninsula
d) None of the above

Question Number : 47 Question Id : 70959726440 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The Patkai Bum, the Naga Hills and the Mizo hills comprises the:
a)Himachal
b) Purvanchal
c) Uttaranchal
d) Shiwaliks

Question Number : 48 Question Id : 70959726441 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the meaning of Himalavas?
a} Abode of snow

b) Snow hill

¢} Snow fall

d) Ice hill

Question Number : 49 Question Id : 70959726442 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
Drip irrigation is also known as
a) Sprinkler Irrigation
b) Trickle irrigation
¢} Surface Irigation
d) Sub irrigating

Question Number : 50 Question Id : 70959726443 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Irrigation supplements

a) Essential moisture for plant growth
b) Dilute salts in soil

¢} Cooling the soil

d) All the above

Question Number : 51 Question Id : 70959726444 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
In the water is not always available as the level of water goes down during the drv months.
a)Shallow wells
b) Deep wells
c} Tube wells
d) Artesian wells

Question Number : 52 Question Id : 70959726445 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

As per the Travel and Tourism Competitiveness Report 2009 by the World
Economic Forum, Indiaisranked . ... ... in the Asia Pacific region.
E.} Eil'd.

b)11%

C} Hil

d) 15t

Question Number : 53 Question Id : 70959726446 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The demand for travel and tourism in India is expectedto growbv ... percent between 2010 and 2019 and
will place India at the third position in the world.
a) 8.2
b) 6.8
cl4.9
d)23

Question Number : 54 Question Id : 70959726447 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
W.T.O refers to

a} World Trade Organization

b) World Travel Organization

c) Both A and B

d) None of the above

Question Number : 55 Question Id : 70959726448 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What was the population of India according to 2001 census?
a} 350 million

b) 1.02 billion

c} 1.21 billion

d) 623 Tmillion

Question Number : 56 Question Id : 70959726449 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



According to 2011 census, what was the ratio of literacy in India?
1) 64.84%
b) 68.87%
c) 74.04%
d) 92.02%

Question Number : 57 Question Id : 70959726450 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Name the year of demographic divide?
a) 1931

b) 1951

c) 2001

d) 1921

Question Number : 58 Question Id : 70959726451 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Livestock plays a significant role in the welfare of India's
a} Urban population

b) Tribal population

c) Rural population

d) All of the above

Question Number : 59 Question Id : 70959726452 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Good breeds of sheep are found in

a} The Temperate Himalayan Region
b} The Dry North Western Region

¢} The Semi- Arid Southem Region
d) The Humid Easter Region

Question Number : 60 Question Id : 70959726453 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which state has the largest number of buffalos in India?
a) Uttar Pradesh
b) Haryana
c) Gujarat
d) Punjab

Question Number : 61 Question Id : 70959726454 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
The mineral which forms the backbone of industrial development of
Indiais
a) Iron ore
b) Coal
c) Hematite
d) Manganese

Question Number : 62 Question Id : 70959726455 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Over percent of total reserves of manganese ore of India occur in a belt swetching from Nagpur and
Bhandara districts of Maharashtra to Balaghat and Chindwara district of Madhva Pradesh.

a) 12

b} 78

c) 46

d) 22

Question Number : 63 Question Id : 70959726456 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
is the largest producer of Manganese in India

a) Bihar

b) Orissa

c) West Bengal
d) Chhattisgarh

Question Number : 64 Question Id : 70959726457 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Indian population accounts to more thana __ of the world’s population
Demographically

3_). 3ud

b) 4t

C_‘} qth

d) 6

Question Number : 65 Question Id : 70959726458 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Areas suffering from droughts and having a rough terrain are likely to have a
density of population.
a) Very low
b} High
c) Low
d) Moderate

Question Number : 66 Question Id : 70959726459 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The growth of population in a region depends
upon

a} Fertility

b) Mortality

c) Migration

d) All

Question Number : 67 Question Id : 70959726460 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_Phenomencn of migration of skilled persons from the poorer countries to the developed countriesis called as,
a} Emigration

b) Immigration

c} Source to Sink

d) Brain-Drain

Question Number : 68 Question Id : 70959726461 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Newlv emerging infectious diseases SARS is mainly because of this type of migration,
a) Interstate migration

b) Intrastate migration

c¢) International migration

d) Intra district migration

Question Number : 69 Question Id : 70959726462 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
For developed countries, the positive gains from immigration are a result of,
a) Rich labours
b) Cheap and eager labour into the economy
¢} Lethargic people
d) More people

Question Number : 70 Question Id : 70959726463 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which of the following is a push factor in rural to urban migration?
a) Famine or drought
b) Job opportunities
c) Better living conditions
d) Enjovment

Question Number : 71 Question Id : 70959726464 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Verv high proportion of the intra- state migrants are classed as,
a} Rural to rural

b) Rural to urban

c} Urban to urban

d) Urban to rural

Question Number : 72 Question Id : 70959726465 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Both poor and rich from the country side migrate to the urban areas under the influence of,
a) Push factors
b} Pull Factors
¢} Both push and pull factors
d) None of these

Question Number : 73 Question Id : 70959726466 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The Census 2011 of India covered:
a) 640,867 villages
b) 500,000 villages
€} 560,000 villages
d) None atall

Question Number : 74 Question Id : 70959726467 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Among the bigger states of India, the lowest percentage of married femalesis in:
a) Tamil Nadu

b) Andhra Pradesh

¢} Jammu & Kashmir

d) Goa

Question Number : 75 Question Id : 70959726468 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

_The slowing down of overall growth rate of populationis due to:
a} Sharp decline in growth rate in rural areas

b} Sharp decline in migration.

c) Moderate decline in natural increase

d) None of the above

Question Number : 76 Question Id : 70959726469 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which state got last place in literacy population in India?
a) Lakshadweep
b) Arunachal Pradesh
c) Kerala
d) Uttar Pradesh

Question Number : 77 Question Id : 70959726470 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. Which svstem provide the data about Crude Birth Rate, Total Fertility Rate, Infant Mortality Rate etc.?
a} Sample Registration Svstem

b) Multi-Indicator Surveys

¢} National Familv Health Survey

d) Rapid Household Surveys.

Question Number : 78 Question Id : 70959726471 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
In 2001, the programme launched to bring in an improvement in the elementary education system, was
a) District Primary Education Programme
b) Kasturba Gandhi Shiksha Yojana
c) Sarva Shiksha Abhivan
d) Urban Slum Level Education

Question Number : 79 Question Id : 70959726472 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which is not a major urhan development programme in India
a) INNURM

b} URIF

¢) IDSMT

d) ITDC

Question Number : 80 Question Id : 70959726473 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



According tom Urbanization Prospects, the percentage of total urban population in India was about
................... in 2010

Question Number : 81 Question Id : 70959726474 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

In terms of slum population as a percentage of urban population Harvana,
Andhra Pradesh and occupied the top three places.
a) Kamataka
b) Tamil Nadu
¢} Maharashtra
d) Orissa

Question Number : 82 Question Id : 70959726475 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Permanent collection of buildings with inhabitants are called as
a) Houses
b) Families
¢} Settlements
d) Civilization

Question Number : 83 Question Id : 70959726476 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Compact settlement is based on the
a)} Farming
b) Industry
¢} Hunting
d) All the above

Question Number : 84 Question Id : 70959726477 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Mixed village is the mixture of pattern of settlement.
a) Nucleated and Linear

b) Linear and Dispersed

c} Nucleated and Dispersed

d) None of these

Question Number : 85 Question Id : 70959726478 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which is essential to the establishment and smooth functioning of any settlement as a social entity?
a} Social facility
b) Health care
c} Education
d) Social amenities

Question Number : 86 Question Id : 70959726479 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



When the Integrated Rural Development Programme (IRDP) is launched?
2) 1876
b) 1988
c) 1978
d) 1989

Question Number : 87 Question Id : 70959726480 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which vojana was takenup in 25 blocks to ensure convergence of housing, provision of safe drinking water,
sanitation and commeon drainage facilities in rural areas?
a) Samagra Awas Yojana
b) HUDCO
c) National Social Assistance Program
d) National Family Benefit Scheme

Question Number : 88 Question Id : 70959726481 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The Housing & Urban Development Corporation (HUDCO) was established during which five vear plan?
a) The Third Plan

b) The Fourth Plan

c) The Fifth Plan

d) The Sixth Plan

Question Number : 89 Question Id : 70959726482 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

In the First Five Year Plan, the govermnment concentrated on,
a) Institution building and on construction of homes

b) Slum Clearance

¢} Master Plans for major cities

d) Basic healthcare

Question Number : 90 Question Id : 70959726483 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

. It is mandatory to revise the master plan once in every,
a} 5 vears

b) 6 vears

c} 8 vears

d) 10 vears

Question Number : 91 Question Id : 70959726484 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which of the following is an example of industrial district?
a} Mumbai

b) Kolkata

¢} Cuttack

d) Coimbatore

Question Number : 92 Question Id : 70959726485 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Firstrail way line of the country, was between
a} Mumbai—Delhi
b) Mumbai- Pune
c} Mumbai— Thane
d) Mumbai-Eolkata

Question Number : 93 Question Id : 70959726486 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one of the following is well known for ship building industry?
a) Vishakhapamam,

b) Mumbai

c) Chennai

d) Bhuvneshwar

Question Number : 94 Question Id : 70959726487 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

First Iron and steel industry was setup in
a) Bhilai

b) Rourkela

c) Jamshedpur
d) Bokaro

Question Number : 95 Question Id : 70959726488 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Rourkela steel plant was set up with the assistance of

i UK

b. Germany
c. Russia

d. TUSA

Question Number : 96 Question Id : 70959726489 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Largest silk producer in the country, is

a. Kamataka

b. Andhra Pradesh
c. Tamilnadu

d. Kerala

Question Number : 97 Question Id : 70959726490 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
An enterprise where the investment in plant and machinery is more than Rs.5 crorebut does not exceed
Bs. 10 crore™?
a} Small scale Industry
b) Medium scale Industry
c} Large scale Industry
d) Industry

Question Number : 98 Question Id : 70959726491 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



. The following one is the example for Medium scale industries,
a) Bicycle industry

b) Heavy mechanical engineering goods:

c) Heavy electrical goods industry

d) None of these

Question Number : 99 Question Id : 70959726492 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Which one of the following controls the Strengths of Indian medium scale industries?
a) High contribution to domestic production

b) Significant export earnings

c) Low investment requirements

d) All the above

Question Number : 100 Question Id : 70959726493 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Much of the county is development is done through,
a} 6 vear plans
b) 5 vear plans
c} 8 vear plans
d) 3 vear plans



